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M. A. DEGREE END SEMESTER EXAMINATION - MARCH 2020
SEMESTER 4 : SOCIOLOGY

COURSE : 15P4SOCT18 : INDUSTRY AND SOCIETY
(For Regular - 2018 Admission & Supplementary 2017/2016/2015 Admissions)

Time : Three Hours Max. Marks: 75

Section A

Answer any 8 (2 marks each)
Define Anomie in industry
Explain the role of Suggestion Committee for the settlement of Industrial Disputes.
What is meant by Associative Participation of Workers in Industry?
Explain Works Committee in WPM
What is Entrepreneurial Development?
What is Horizontal Growth of the Enterprise?
What is Enforced Labour?
What is Personnel Management?

W N U e W R

Explain post-industrial society

-
©

What are the requirements of Industrial Leadership?

-
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Define Statutory Crime

-
N

What is Autocratic leadership in industry?
(2x8=16)

Section B
Answer any 7 (5 marks each)

13. Identify the obstacles of industrialisation in India
14. What are the Essential conditions for Worker's Participation in Management
15. What are the duties and liabilities of a registered trade union?

16. What are the laws related with Trade Union which make its existence and functions more formal
and systematic?

17. Describe the span of command in industry - Vertical and Horizontal

18. Mention the advantages and disadvantages of Informal organisation in industry
19. Mention the advantages and disadvantages of Formal Organisation in industry

20. What are the typical features of industrial crime?

21. Suggest suitable measures to prevent Population Over Crowding in industrial areas
22. Explain the health measures ensured to workers in Factories Act 1948

(5x 7 = 35)
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23.

24,
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26.

20P4037

Section C
Answer any 2 (12 marks each)

Trace out the process of industrial development in India in a historical sequence. Identify the
hindrances to industrial progress in our state

What are the causes, consequences ad remedies of Industrial Disputes?

Identify the inter relation between work and society. Substantiate your answer with the historical
significance of it

State why CSR is obligatory to industries and enterprises in a developing country like India

(12 x 2 = 24)
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